Propiedad Distributiva (F)

Use la propiedad distributiva para simplificar cada expresion.

4(-5p + 3) 7(-3t-1)
52(-7z + 1) -8g(3g - 9)
(-9¢- 7)(-2) 6v(2v - 3)
-5(-2a + 5) -4k(-7k - 8)
(8 - 8x)4 -(9 + 7p)
9h(6h - 7) (5t-7)(-1)
29§(9 - ) -42(9z + 7)
3(8q + 4) (-9 + 3h)7
-6h(5 + 8h) -8d(-8 + d)
(-9 + 6K)5 -8(6d - 3)
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Propiedad Distributiva (F) Respuestas

Use la propiedad distributiva para simplificar cada expresion.

4(-5p + 3)
-20p + 12

52(-7z+ 1)
-35z° + 5z

(-9¢c-7)(-2)
18c + 14

-5(-2a + 5)
10a - 25

(8-8x)4
-32x + 32

9h(6h - 7)
54h? - 63h

-9j(9-1)
9j2 - 81

3(8q + 4)
24q + 12

-6h(5 + 8h)
-48h? - 30h

(-9 + 6k)5
30k - 45

7(-3t-1)
21t-7

-88(3g-9)
-24g* + 72¢

6v(2v-3)
12v%-18v

-4k(-7k - 8)
28Kk% + 32k

-(9 + 7p)
-7p -9

(5t-7)(-1)
-5t+7

-47.(9z2 + 7)
-36z% - 28z

(-9 + 3h)7
21h - 63

-8d(-8 + d)
-8d? + 64d

-8(6d - 3)
-48d + 24
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